L68

The dependent Marfoo’ pronoun can be either visible or concealed. The

concealment is either necessary («—=!5) or permissible (J3s) but the

independent can only be visible. Based on this we can divide the pronoun into

seven divisions:

1.

Independent Marfoo’ Pronoun (g sl Juadiall):
é);j i cz;u\ c\.A:.a\ cg'_u\ 4\..«:.1\ il cz;h Lok c;;g) 4(;:5 Lot 4}&

. Independent Mansoob Pronoun («s<aidl Juadidl):

LI ¢Gsll 608U (L) ¢S oS (Ll ¢S (ALY cLahl) (L] ¢ahll) (Lahll) cold)

. Dependent Mansoob Pronoun (« s<idl Jeaidll):

U e of8 Ll oS o€ (L€ (S Fh cLah ol cab Lk o3
Dependent Majroor Pronouns (saall Jaidl); as in “43 & ,)4, they are the

same as the previous.

. Dependent Visible Marfoo’ Pronoun

It is the pronoun in the forms of the past tense verb, except the 1%t and 4
Seeghah, as ) s sz syl also the pronoun in the forms of the present
tense verb and command verb, except in the forms 1,4, 7, 13 and 14; as in
Dl

Dependent, Necessarily Concealed Marfoo’ Pronoun

It is a must to conceal the pronoun of the subject in the 71,13t and 14"

seeghah of the present tense and the command verb.

. Dependent, Permissibly Concealed Marfoo’ Pronoun

Note:

The Reference of the Pronoun:



It is necessary for the pronoun of the third person to refer back to the
previously mentioned thing (in the sentence), literally, figuratively or by a
grammatical rule; as: “4x2& Ly &’ Sometimes the pronoun refers to
something mentioned after it, but it is only due to a grammatical rule that it

comes after and it is not normal; as in ‘) 4a3le &)






